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ECONOMICS

( Honours Core )

Paper : ECO-HC-6016

( Indian Economy—II )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10

Cold oPeARd Tl fan
(a) Mention one objective of Indian

monetary policy.
SRS YIS qB1 Seveds e 41 |

(b) What is the difference between repo rate
and bank rate of RBI?

sReN e @ @’ @b IF @ IN
e e &2
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(2)

(c) State one important instrument of
Indian fiscal policy.

SSd AHCFIRE ST O BFeoyd SfZen Seas
340

(d) Write one main feature of India’s trade
policy.

SHe] e TS Go1 751 ¢k for o

(e) What is minimum support price in
Indian agriculture?

RO PR Faew 797 7=1 & 2

(/ What 1is mechanisation of Indian
agriculture?
SRy I IR 2

(g9 Give the meaning of ‘ndustrial
diversification’.
‘B At WY foran |

(h) State one reason of sickness of public
sector industries of India.

SRS QT I9T SR FIOHR GO IRT IS
41|
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(3)

() What is foreign portfolio investment?

R ‘coavreime’ Rifacmst &2

() Name the largest service sector in India.

SIAed J28N CRIRGA A9 o1 |

2. Answer the following questions : 2x5=10

eTs Ul oTYEd el fran

(a) Distinguish between revenue deficit and
fiscal deficit.

&2 NI WF ISR QoI N A 391 |

(b) Mention two important defects of
agricultural marketing of India.

SR P IWRA 01 Feesyd &6 Ty 1|

(c) Write two positive effects of demone-
tisation in the Indian economy.

SREY WLAfeA RIEe R [ AF 25K
fera 1

(d) What is import substitution?

Traifd Reaied 2

(e) Give the meaning of ‘service sector’.

‘CaIRe’3 Y o3 |
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( 4)

3. Answer any four from the following
questions : 5x4=20

©oTs fra iR R e wifkoR Ted fam ¢
(a) Explain any five instruments of

monetary policy in India.

SREY @AY R I <o =fzen rm
e

(b) Distinguish between micro, small-scale
and medium industries of India.

SRS T, Y WF TKAA Scais N [y
1

(c) Point out five main defects of Indian tax
system.

SRA IR IRFA <601 T o Sngfermnx fam |

(d) Discuss the various shortcomings of the
fiscal policy of India.

SRe] ImI/E Ay Rfca  wpRkeemz
S 40 |

(e) Outline the agrarian structure of India.

SR RIS MAAT 8RS HEARFAS F41 |
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(S5)

() Discuss the role of service sector in
Indian economy.

TSRO JAAES GRS SR SCABAT 31 |
4. Answer the following questions : 10x4=40
et el 2rTeRd ed fa

(a) Examine the statement that “In recent
years there has been a shift in the
emphasis from land reforms to
technological reforms in India”. 10

TRET RS FU @ et TEe SReN
TR oY SR PRI [ PSR AFREA
LGICR R

Or / 991

Discuss the problems and remedies of
micro industries of India. 5+5=10

SRS G TSP WM WIE AN
TARPTYR ST 3541 |

(b) Discuss the trade and investment policy

reforms introduced in India during post-
1990’s. 5+5=10

y5d0 59 Fee TSRO o (X[ AfdE ==
fRfvcms Sife3 AR TS A& 397 |
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()

(d)

A23/679

(6 )

Or / H4€1

Discuss the role of foreign direct
investment in Indian economy.

SO wYAfYe gors e iR g
SRS 41 |

Give an outline of the various defects of
macro-economic policies of India.

SRS AR HfAfes Ao [fen HTI
GRS AR F41 | '

Or / "1

Explain the problems of public sector
industries faced in India during post-
globalisation period. Give your
suggestions to remove such problems.

6+4=

QAT (IFRTIR D TS S
A 997 TP SR @4 IR
D T G2 APIPHR @ FIR IR O
o SISO |

Examine the performance of service
sector of India during post-1990’s,

550 B9 YRTO] IECRES SRUd CIEINST
YIS 2T I |

10

10

10

10
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(7))

Or / 941
Discuss the major challenges facing
Indian agriculture in recent times. 10
MefeF ge SR IR R @A T
AOTIRIYR HCEDAT F41 |
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